TS2: The equation (18) calculating error of NMB in the manuscript is expressed wrongly and should be corrected.
The error of NMB can be expressed as: =2 (in Page 10). SD represents the standard deviation of NMB and n represents the number of data. The standard deviation (SD) of NMB is calculated as:

Therefore, the Eq. (18) should be changed to:

It's worth noting that the errors of NMBs referred to in the manuscript were calculated using Python 3.7 (https://www.python.org/) where the standard deviation (SD) of NMB is computed using the function NumPy.std with the parameter ddof equals 1 (https://numpy.org/doc/stable/reference/generated/numpy.std.html).
So, we clarify that only the equation (18) is expressed incorrectly and the error of NMB in the manuscript is calculated correctly.

